6 spheres ‘loose-packed’ around 6 (ref.) electrons.
(Opt.) interestingly, sequence 6-1-6 = 1-6-1

substructure vol. = 198 electrons

Another way to create
substructure ratio: 14.071/1

vol. B 1 |vol. C_vol. B_14.07 1
vol. A ,E' vol. BTvol. A™ 1

electron o ——
_ (ref @ Enlargement
' IE—)———® of substructure

\ ‘l 4 o '«— Another way to make 2180.19/1
NN | ratio; 1 big sphere around 4; each
ref. « o of those 4 around 6, and each of
electroh—rl those 6 around 1 (ref.) electron

W)

o’ ~—

Vol. Ratio: 2180.19/1; a vol. (mass)
ratio approximation for the Lambda
Hyperon / electron. ((1 big sphere
around 4, those close-packed

/i N\ f around 4 (ref.) electrons
NS 7 (ref.) )

Fig. 5; the Lambda Hyperon with empirical mass of 2183.34
electrons. Ways to approximate it and its sub-structures.

This Hyperon has a longer ‘half-life’ than most Hyperons. All Hyperons shown more massive than Neutrons..



